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i Al 99.8 99.9 99.9 99.7 99.8 99.6 99.7 99.7 99.9 100.0 99.5 99.6
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7 $H 100.1 100.5 99.8 99.0 99.0 98.9 99.7 99.4 99.6 100.8 99.0 99.4
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St # - sk 3E| 100.2 100.2 100.4 100.7 101.2 101.6 102.2 102.7 103.1 103.5 103.8 104.1
FH - ZFEMM 946 944 947 93.0 92.1 90.2 89.7 88.9 88.1 88.8 88.0 87.1
R K OB 949 94.8 96.1 99.4 99.2 98.3 94.9 92.7 99.8 99.7 100.6 98.4
% E O 99.8 99.3 99.1 98.9 100.2 99.7 99.2 99.1 99.1 98.7 98.3 98.5
A @ - @ {8 99.7 100.4 101.5 101.7 101.9 101.0 102.0 102.9 101.5 100.9 101.1 101.6
# H|l 98.3 98.3 98.3 98.6 98.6 98.6 98.6 98.6 98.6 98.6 98.6 98.6
o & o % 98.0 981 97.4 96.3 96.5 96.8 96.4 97.1 96.5 96.4 95.1 95.4
B4 e #| 104.0 104.2 104.2 103.9 103.2 103.5 103.5 103.2 103.2 102.9 102.8 102.9
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oW W 98.7 97.7 99.3
i [C T 99.3 98.6 99.7
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HoOHR 1] 101. 8 100. 5 102. 3
Koo B T 101.0 100. 6 101. 2
b il 100. 3 101. 4 100. 8
it Il i 101.9 102.7 102. 3
[l i i 100. 4 100. 1 101. 3
KR 101.7 101.9 102.5
e Ju T 96. 6 97.6 97.7
& ] el 97. 4 95.8 98. 1
I N ) 100. 1 101.3 101.0
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= E 99.7 99.8 99.6 99.8 103. 3 94. 4 99.7 99.3 101. 2 97.9 96.0 103.8
L ®g |l 100.2  100.2  100.0 99.4  105.3 95.1 100.0 99.1 101.3 97.5 96.7  106.4
il = 99.3 99. 4 99. 4 99.2  103.8 93.3 97.8 99.0 101.3 97.7 95.2  103.6
SRR == 99.9  100.0 99.7 99.8 103.6 93.6 102.6 99.2  101.0 97.6 97.9 102.5
T #E W 99. 6 99. 6 99. 1 99.3  103.2 95.0 100.6 99.5  101.1 99.9 97.2 102.8
BT AB XED 99.5 99. 6 99. 3 99.5  102.7 94.4  100.4 99.4  100.6  100.0 96.6  102.8
i (U7 ] 99.5 99. 6 99.5 100.0 103.0 92.8  100.2 99.7  100.6 98.9 96.0 102.8
L S S ] 99.7 99.7 99.7 99.6  102.9 94.1 101.2 99.4  100.4 98.5 96.8 103.0
Brooow 99.5 99. 6 99.9 99.5  103.2 97.0  100.0 98.4 101.3 97.5 93.6 103.0
# [if] 5] 99.9 100.0 100.1 101.1 102.4 96. 0 99.9 99.0 101.4 99. 2 93.6 103.5
e A i 99.8 99. 8 99. 6 99.9  103.1 95.8 99. 4 99.7 101.9 98.0 94.8 103.3
E - ] 99. 6 99.5 100.2 100.0  102.4 95.3 96. 8 99.1  100.8 99.0 95.6  103.0
B i fil  100.1  100.1 99.8 100.7  102.2 95.6  101.3 99.3  100.9 98. 4 97.4  103.3
K Bk 99.5 99. 6 99.5 99.8  102.1 92.3  101.2 99.1  100.3 98.5 95.6  103.8
B il 99.3 99. 3 99. 3 99.9 101.4 88.1  100.8 99.5  100.9 96.5 96.0 105.0
FG = B 1 99. 8 99. 8 99.2  101.1 102. 0 97.0  100.6 99. 4 99. 1 100. 0 97.0 103.0
[it] 1L il  100.1  100.0  100.7 100.5  102.5 97.2  100.9 99.7 101.1 98. 1 95.1 103.1
J & | 10001 100. 1 100. 2 99.5  102.7 98.6  102.0 99.5 101.0 98.3 96.7 103.6
b Ju N T 99.6 99. 6 99.5 99.9 102. 2 95. 8 98. 1 99. 4 101. 2 96. 9 95.5 103. 8
12 [ hil 99.8 99.8 99.6 101.1 102.0 90. 8 97.4 99.2 101.4 98.5 96.7 103.5
e AR il 99.5 99.5 99. 4 99.7  102.3 92.6 99.0  100.1 101. 3 97.5 96. 2 103. 7
Bl AR LE (%)

= = A0.3 A0.3 A0. 4 A0.2 3.3 Ab. 6 A0.3 AN0.7 1.2 A2.1 A4.0 3.8
AL W T 0.2 0.2 0.0 A0.6 5.3  A4.9 0.0 A0.9 1.3 A2.5 A3.3 6.4
Al = Tl A0.7T  A0.6  A0.6 A0.8 3.8 A6.7 A2.2 AlO 1.3 A2.3  A4.8 3.6
SN = v VAN RN 0.0 A0.3 AO0.2 3.6 /6.4 2.6  AO0.8 1.0 A2.4 A2.2 2.5
+ 3 | 2A0.4  A0.4  AN0.9 AO0.T7 3.2 A5.0 0.6 A0.5 1.1 N0.2  A2.8 2.8
WA X E A0.5  A0.4 A0.T  AO0.5 2.7 Ab5.6 0.4 A0.6 0.6 0.0 A3.4 2.8
JI g W A0.5 0 A0.4 AO0.5 0.0 3.0 AT.2 0.2 A0.3 0.6 ALl A40 2.8
# | A0.4 0 A0.3 A0.4 AO.5 2.9 A5.9 1.2 A0.6 0.4 Al.5  A3.2 3.0
oW HH| A0.5  A0.4  AO.1 ANO0. 5 3.2  A3.0 0.0 Al1.6 1.3  A2.5 A6.4 3.0
[ fit] M| A0.1 0.0 0.1 1.1 2.4  AN4.0 AO.1 A1.0 1.4 A0.8 A6.4 3.5
% N M| A0.2 N0, 2 ANO. 4 AO. 1 3.1 A4, 2 ANO. 6 ANO0. 3 1.9 AN2.0 A5, 2 3.3
% W = | A0.5 A0.5 0.2 0.0 2.4  AN4.7T  A3.2  AN0.9 0.8 A1.0 A4.4 3.0
oA i 0.1 0.1 AO. 2 0.7 2.2 AN4.4 1.3 AO0.7 0.9 Al.6 A2.6 3.3
K Bk ] A0.5  A0.4  A05  AO0.2 2.1 AT.7 1.2 A0.9 0.3 AlL.5  A4.4 3.8
B Ml 0.7  A0T AT A0.2 1.4 A11.9 0.8 AO0.5 0.9 A3.5 A4.0 5.0
A = il 2o0.2 ANO. 2 NO0.8 1.1 2.0 A3.0 0.6 ANO0. 6 N0.9 0.0 A3.0 3.0
[l i} i 0.1 0.0 0.7 0.5 2.5 A2.8 0.9 A0.3 1.1  A1L9 A4.9 3.1
Jix =) el 0.1 0.1 0.2 NO0.5 2.7 Al.4 2.0 NO0. 5 1.0 A1.8 A3.3 3.6
e Ju M | A0.4 A0.4 AO0.5 A0 1 2.2  A4.2  AL9  AN0.6 1.2  A3.2 A4.5 3.8
= [if H AO0. 2 A0.2 ANO0. 4 1.1 2.0 A9.2 AN2.6 A0.8 1.4 A1.5 A3.3 3.5
A& A | A0.5  A05  A0.6 A0.3 2.3  A7.5 A1L.0 0.1 1.3  A2.5 A3.8 3.7




